TOP

[L/min] = (20x L)/(60x 5)

1 2
[kJ/h] [L] [L/min] [L/min]
(% 0.6mh) 0|[L] 0.0 0.0 0.0
0|[m] 0.0
o[ 1 0.0 0.0 0.0
o[ 1 0.0 0.0 0.0
o[ 1 0.0 0.0 0.0
o[ 1 0.0 0.0 0.0
) 5[ ]
X2 x2 100/[ 1| 1315600.0 5714.3 190.5
80/Im] 5.3
1
*4.186[kJ/h] = [L1x (42-5)[ 1
[L] = [L]x (42-5)/(60-5)x 0.7
1 [L/min] = [ /h]x [L]x 1/60
q x L[m] [m]
2 [L/min] = :50A 83.7[kJ/m h]
60 x 5[° C]
20 x L
60 x 5
1 [L/d]
150 1/7 1/5
11.5 1/6 1/5
20 1/8 2/5
250 1/7 1/7
400 1/7 1/7
*4.186[kd/h] =1 1 [L/day] x x y x (60-5)
[L]=1 1 X X
[L/min] = 2[ /h] x [L]x 1/60
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